

[Continue](#)

# Rules for Integrals

## Power Rule

$$\int x^n dx = \frac{x^{n+1}}{n+1} + C \quad n \neq -1$$

$$\int x^{-1} dx = \ln|x| + C$$

## Exponential

$$\int e^x dx = e^x + C$$

$$\int a^x dx = \frac{a^x}{\ln a} + C$$

## Constant Multiples

$$\int kf(x) dx = k \int f(x) dx$$

## Absolute Value

$$\int |x| dx = \frac{x|x|}{2} + C$$

## Sums and Differences

$$\int [f(x) + g(x)] dx = \int f(x) dx + \int g(x) dx$$

$$\int [f(x) - g(x)] dx = \int f(x) dx - \int g(x) dx$$

$$\int u dv = uv - \int v du$$

the product rule for differentiation

$$\frac{d}{dx}(uv) = u \frac{dv}{dx} + v \frac{du}{dx}$$

$$\int \frac{d}{dx}(uv) = \int (u \frac{dv}{dx} + v \frac{du}{dx})$$

$$uv = \int u \frac{dv}{dx} + \int v \frac{du}{dx}$$

$$\int u \frac{dv}{dx} = uv - \int v \frac{du}{dx}$$

where it comes from:

put into reverse

and then rearranged

$$\frac{d}{dt} 2e^{3t} = 2 * e^{3t} * 3$$

$$\int 2e^{3t} dt = 2 \int e^{3t} dt = 2 \int e^u * \frac{1}{3} du = \frac{2}{3} \int e^u du$$

$$u = 3t$$

$$du = 3dt$$

$$\frac{1}{3} du = dt$$

$$= \frac{2}{3} e^u + C$$

$$\int (4x^2 - 2x) dx = \int 4x^2 dx - \int 2x dx$$

$$= 4 \int x^2 dx - 2 \int x dx$$

$$= 4 \frac{x^3}{3} - 2 \frac{x^2}{2} + c$$

$$= \frac{4x^3}{3} - x^2 + c$$

$$= x^2 \left( \frac{4x}{3} - 1 \right) + c$$

